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34b (7 mwn) > 35b (827 1237 20 K7)
(note: -1 nawp, which are included with 7 73wp here, will only be addressed on :15 we will include them on p. 30)
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L. n mwn: parameters of validity for anx
a.  Essential invalidity: stolen or withered
b.  Theoretical nonexistence: if coming from nVWR tree or NN Y
c.  Unique issues (as fruit): n91p, nkno nmIn — invalid
i.  However: nmnv nmn and v’yn in 79w — should not use, but is r¥v if used
ii. apT 0" allow, w1 invalidate
II.  xna defining NInR (interepreting v. 1) - 970 pY 19 means a tree with same taste as fruit
a. Challenge: perhaps this is the pepper tree, per n"1’s exegesis on vv. 2-3
b. Answer: that is impossible; too small to “take” one of them, and the nin stipulates 1 770 py »a
c.  Therefore: must be nInR
d. 237 read 1710 —just as corral (177) has young and old, pure and blemished
i. So too: mInR has ripe fruit while others are just blooming (perennial)
e. 172~ ”1(?): read "T0” as verb — perennial
f.  onr 2 read vVOWo- Greek for “water” — tree that grows on all types of water (rain/irrigation) — nnx
III. Analysis of invalid onan per the mwn
a. nnma vy 771wN: since they must be burnt, the Myw is non-exsistent
b. /757y dispute as to reason between ’ar 92 X»n "3 and 'oR "3
i. /58 1 since it has no permissible way to be eaten, may not be used
ii. pwp p7. it cannot be considered a financial asset
iii. Assumption: each approach is exclusive
1. Challenge: nRnv NN may not be used — only valid for N8 9n’n, as he may use for fuel
iv.  Correction: all agree that n%aR 1m0 is a necessary criterion; dispute if nnn 17 (alone) is also 23yn
v. Point of dispute: w"yn in 09w per n™ (M) pnn); has nvar 0 but not pnn 17
vi. Suggestion: "oR 1 was the one who insisted on pnn 1
1. Per: his observation that only according to n”3, may not use w172 "pn Yv NINR
IV. Tangent (from »or 7’s observation above)
a.  Similar rulings: re n¥n and obligation of nYn from w”yn in W5V (according to n™, unfit/exempt)
b.  Challenge (9”7): we understand »1nk and n9n — both require ownership (per vv. 1, 4)
i.  But: n¥n has no requirement of 035 — should be able to use w”yn v n¥n even according to n™
ii. Answer: he infers via on%::on (vv. 4-5) to disallow v"yn v nxn
c.  Suggestion: explicit dispute between n'nan/n™ about liability for non from n-'a2 v”yn >same for n¥n
i. Rejection: perhaps non has a higher threshold of ownership, per double use of nmo»y (v4)
V. Resumption of analysis of “problematic” nmng
a. 8LV A since it has no n%OR N
b.  /7miav Am13m may not use (but valid Tay»7a since it has both n%a% ann and pnn pT); dispute *or “nR
i. A7win: by using it, he is getting it wet and exposing it to nkmv
ii. /7709p: by using it, he wears away at the peel
iii. Point of dispute: if he identified nmAn as the flesh, excluding the peel (only n1°wan, not nToan)
c. ’xp7.w"ahold that 0”1y may not eat *Rn7->n0 1228 NN
i. /72 permit DY to eat '8nT >has nYar N (if he were to disown his property) (see &:3 'RnT)
d. wwpin pbw17” follows same dispute as regarding n1nv nmn above (nTvan/n1PWIN)
i. And: validity 7ay>12 — as it has both n%9% ann and pnn 17
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